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1. The unifonn pole has a weight ¥ and length L.  Its end B is tied to a supporting cord, and end 4 1s pla.ced
against the wall, for which the coefficient of static friction is ;. Determine the largest angle ¢ at which

the pole can be placed without slipping. (25%)
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9 For the following uniform semi-circular ring with its inside diameter R, and outside diameter Ry, find its )

. center of gravity. (25%)
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3. A uniform beam of length L and weight W is supported as shown. If the
cable suddenly breaks, determine (a) the acceleration of end B. (15 %),

(b) the reaction at the pin support A. (10%)

- cmmae - memn e oar LR =

4. A 15 1b block B rests on the upper surface of a 25 1b wedge A as s:hown in

—— o e ——— Ll e = e —

the figure. Neglecting the friction, determine (a) the acceleration of

Py Pyl

wedge A, (15%) (b) the acceleration of B relative to A (10%),

immediately after the system is released from the rest.
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